Name

Date


Add. Show your work on your grid. Remember to line up the decimal points.

1.

[image: image1.wmf]6.582.436

+

 __________


2.

[image: image2.wmf]1.84.307

+


__________

4.

[image: image3.wmf]16.7514.349

+

 __________

5.

[image: image4.wmf]18.74114.113

+

 _________

Subtract. Show your work on your grid. Remember to line up the decimal points.

7.

[image: image5.wmf]5.642.31

-

 __________


8.

[image: image6.wmf]9.3855.216

-


__________

10.

[image: image7.wmf]16.43512.144

-

 __________
11.

[image: image8.wmf]18.90814.76

-


 __________

13.
It costs $5.52 to park in parking lot A and $3.75 to park in parking lot B. How much more does it cost to park in parking lot A? _____________
Evaluate the expression. Show your work on your grid. Remember to line up the decimal points. 

14.

[image: image9.wmf]7.8512.195.401

++

__________
15.

[image: image10.wmf]9.1127.64911.52

+-

 __________

16.

[image: image11.wmf]16.07213.183.982

-+

 __________
18.

[image: image12.wmf]17.8168.6235.94

--

 __________


20.
Write two decimals that have a sum of 16.825.  ______________________

21.
Write two decimals that have a difference of 16.825. __________________

22.
To find the girth of a suitcase, add the length, width, and depth. 


a.
Your suitcase has a length of 24.5 inches, a width of 14.25 inches, and 
a depth of 6.875 inches. Find the girth of your suitcase.



___________


b.
In order to store your suitcase in the overhead compartment, the girth must not exceed 45 inches. Will you be able to store your suitcase in 
the overhead compartment? Explain.


_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________


[image: image13.png]df@im‘ Game Review what you learned in previous grades & lessons

Multiply. Write the answer in simplest form. (Section 2.1)

38 3x2 39. 2
179 5

40. MULTIPLE CHOICE What is the LCM of 6, 12, and 182 (Section 1.6)
@ 6 18 © 36 @ 72





36. _______

37. _______

38. _______

39. _______
Practice A
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